

Zurich Open Repository and Archive University of Zurich University Library Strickhofstrasse 39 CH-8057 Zurich www.zora.uzh.ch

Year: 2024

Modulation of the neuronal response in human primary visual cortex by re-entrant projections during retinal input processing as manifest in the visual evoked potential

Marcar, Valentine L ; Wolf, Martin

DOI: https://doi.org/10.1016/j.heliyon.2024.e30752

Posted at the Zurich Open Repository and Archive, University of Zurich ZORA URL: https://doi.org/10.5167/uzh-259821 Journal Article Published Version



The following work is licensed under a Creative Commons: Attribution 4.0 International (CC BY 4.0) License.

Originally published at:

Marcar, Valentine L; Wolf, Martin (2024). Modulation of the neuronal response in human primary visual cortex by re-entrant projections during retinal input processing as manifest in the visual evoked potential. Heliyon, 10(10):e30752.

DOI: https://doi.org/10.1016/j.heliyon.2024.e30752

Contents lists available at ScienceDirect

Heliyon



journal homepage: www.cell.com/heliyon

Research article

5²CelPress

Modulation of the neuronal response in human primary visual cortex by re-entrant projections during retinal input processing as manifest in the visual evoked potential

Valentine L. Marcar^{a,b,*}, Martin Wolf^a

^a University Hospital Zürich, Biomedical Optics Research Laboratory (BORL), Frauenklinikstrasse 10, CH-8091, Zürich, Switzerland ^b University Hospital Zürich, Comprehensive Cancer Center Zürich (CCCZ), Rämistrasse 100, CH-8091, Zürich, Switzerland

ARTICLE INFO

Keywords: Temporal - and spatial luminance contrast Local and global stimulus properties Afferent and efferent input Feature extraction Object closure

ABSTRACT

Initial deflections in the visual evoked potential (VEP) reflect the neuronal process of extracting features from the retinal input; a process not modulated by re-entrant projections. Later deflections in the VEP reflect the neuronal process of combining features into an object, a process referred to as 'object closure' and modulated by re-entrant projections. Our earlier work indicated that the VEP reflects independent neuronal responses processing temporal - and spatial luminance contrast and that these responses arise from an interaction between forward and re-entrant input. In this earlier work, changing the temporal luminance contrast property of a stimulus altered its spatial luminance contrast property. We recorded the VEP in 12 volunteers viewing image pairs of a windmill, regular dartboard or an RMS dartboard rotated by either $\Pi/4$, $\Pi/2$, 3П/4 or П radians with respect to each other. The windmill and regular dartboard had identical white to black ratio, while the two dartboards identical contrast edges per unit area. Rotation varied temporal luminance contrast of a stimulus without affecting its spatial luminance contrast. N75, P100, N135 and P240 amplitude and latency were compared and a source localisation and temporal frequency analysis performed. P100 amplitude signals a neuronal response processing temporal luminance contrast that is modulated by re-entrant projections with fast axonal conduction velocities. N135 and P240 signal the neuronal response processing spatial luminance contrast and is modulated by re-entrant projections with slow axonal conduction velocities. The dorsal stream is interconnected by fast axonal conduction velocities, the ventral stream by slow axonal conduction velocities.

1. Introduction

"In the middle of difficulty lies opportunity".

Albert Einstein (1879–1955)

The introduction of non-invasive means of visualising brain activity has greatly aided our understanding of the neuronal processes of cognitive function in humans. Functional magnetic resonance imaging (fMRI), using the <u>blood oxygenation level dependent</u> (BOLD-)

https://doi.org/10.1016/j.heliyon.2024.e30752

Received 6 October 2022; Received in revised form 1 May 2024; Accepted 3 May 2024

Available online 9 May 2024

^{*} Corresponding author. University Hospital Zürich, Biomedical Optics Research Laboratory (BORL), Frauenklinikstrasse 10, CH-8091, Zürich, Switzerland.

E-mail address: valentine.marcar@usz.ch (V.L. Marcar).

^{2405-8440/© 2024} The Authors. Published by Elsevier Ltd. This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0/).

signal, has revealed the macro-neuronal network involved in cognition and perception with high spatial resolution. Arising from a drop in local deoxyhaemoglobin level following a local increase in blood flow that peaks after 6s [1], the BOLD signal is unsuitable for capturing a fast changes in neuronal response. Changes in neuronal response at the millisecond level are captured using electroencephalography (EEG) or magnetoencephalography (MEG). The former by recording the electric potential at the scalp the latter through changes in the local magnetic field. Ease of use and low cost has made EEG the preferred option to study neuronal processing in health individuals as well the influence of viral infection [2], autoimmune reaction [3–5], genetic disease [6,7], ageing [8], neuropathy [9, 10] and atypical cognitive development [11] on neuronal processing. Although EEG offers a poorer spatial resolution than fMRI, by sampling the electric potential from standardised locations across the scalp [12] it is possible to identify the Brodmann area of an electric signal with a reasonable degree of accuracy [13].

Isolating the electric potential generated by the neuronal response accompanying the processing of a specific pattern or task involves averaging the electric potentials from repeated occurrences of that stimulus or task, resulting in the evoked potential (EP). Averaging enhances the electric potentials locked to a stimulus or task and attenuates those that are not [12,14]. The EP is viewed as a reflection of the strength and direction of flow of the extracellular, ionic current flowing between apical dendrites and soma of pyramidal cells [15]. This current is linked to the local field potential arising from the summed influence of all excitatory and inhibitory post synaptic potentials acting at the apical dendrites [16].

Deflections in the EP are referred to as 'components' and are characterised by the time the deflection peaks, i.e. its latency and its amplitude. An EP reflects the change in activity of a large number of neurons rather than that of a select population [17], and so represents a mass-action response. While the neuro-physiological mechanisms of an EP are well understood, the relationship between stimulus property or task difficulty, the neuronal response they elicit and the EP is less clear. Such an understanding is key to inferring a change in neuronal response from a change in EP. With much known about the anatomical and functional organisation of the primate visual system it is a frequent site for investigating the relationship between stimulus property, neuronal response and the visual evoked potential recorded over the occipital pole (VEP) [12]. VEP components with a latency of 100 ms or less are regarded as exogenous, i.e. a neuronal response driven by basic neuronal mechanisms and not subject to modulation by re-entrant projections. Components with a latency beyond 100 ms are considered endogenous, i.e. driven by internal factors and cognitive mechanisms [18]. This neuronal response is considered subject to modulation by re-entrant projections. In the case of the neuronal response in V1 modulation by re-entrant projections originating in areas of extra-striate cortex [19-23]. Primate visual cortex is divided into striate cortex (V1) and a collection of extra-striate areas. The latter consists of numerous cortical areas interconnect in manner yielding a dorsal- and ventral processing stream processing the retinal input in parallel [24]. The signal from retinal ganglion cells, relayed via the dorsal lateral geniculate nucleus of the thalamus, activates neurons in V1 within 50 ms. This thalamic activity is modulated within 15 ms by re-entrant projections from V2 [25,26]. This implies that any neuronal response captured by the VEP during retinal input processing in the visual system is the result of recursive interaction between forward and re-entrant signals [27]. It is therefore not possible to attribute a neuronal response to thalamic activation alone, as it always has been modulated by re-entrant projections. Studies of retinal input processing in human visual cortex using electrophysiology [28-31] and transcranial magnetic stimulation (TMS) in human volunteers [32], as well as neurophysiological recording in the monkey [33] described two distinct activation periods in V1. Psychophysical work identified a transient and a sustained response during processing within the human visual system [34]. Theoretical models of visual object perception envisage an initial stage extracting features, such as edges and corners, in the retinal input [35,36], followed by a subsequent stage where identified features are combined into an object; a process referred to as 'object closure' or 'perceptual closure' [37,38]. Extracting features matches the selectivity of V1 neurons [39]. Combining these features into an object involves linking these features, a process where the response of V1 neurons by re-entrant projections originating in extra-striate cortex [40-42]. Extraction of features and 'object closure' both involve a mechanism selective to spatial luminance contrast, i.e. a change in luminance between two locations in space. Our earlier work noted a linear relationship between the between N75 and P100 amplitude. This led us to conclude that their amplitude reflected the size of the neuronal population active during temporal luminance contrast (\deltaI/\deltat) processing. The same work noted that N135 and P240 amplitude reflected the size of the neuronal population active during the spatial luminance contrast ($\delta I/\delta s$) processing [31]. Later studies demonstrated that the electric potential arising from these two mechanisms are of opposite polarity and interfered destructively, such that increasing the neuronal response during spatial luminance contrast processing attenuated P100 amplitude [43,44]. The VEP from the same pattern viewed as a pattern reversing and on-off stimulus found N75 and P100 amplitude to be the same but N135 and P240 amplitude to be larger for the latter. This points to N75 and P100 signalling a phasic neuronal response and N135 and P240 a tonic neuronal response [43,45,46]. It also demonstrated that the nature of the neuronal response determines its ability to become manifest in the VEP. In this preceding work we varied made use of the retinotopic organisation of V1 to vary the size of the neuronal population active during temporal luminance contrast processing by changing the relative stimulus area undergoing a change from black to white. However, this invariably altered the form of the elements comprising each pattern and with it the re-entrant signal modulating the neuronal response in V1. We therefore aimed to investigate the effect of re-entrant projections on the neuronal response during temporal luminance contrast processing by including a condition where the re-entrant signal was kept constant. We compared the VEP from volunteers to three patterns, a windmill, a regular dartboard and the RMS version of the dartboard. These patterns were designed such that the windmill and regular dartboard had the same temporal luminance contrast and two dartboards the same spatial luminance contrast [46]. In order to vary the size of the neuronal population processing temporal luminance contrast but keeping the re-entrant signal constant, we presented them using the spatial-phase paradigm of Ratliff and Zemon [47]. In this paradigm image pairs of the same pattern were viewed rotated through a specific angle, i.e phase angle relative to each other. Increasing phase angle increased the relative area of white changing from black to white and so the number of neurons active during temporal luminance contrast processing. For a given pattern the number of neurons active during spatial luminance contrast processing was constant. We predicted that if the neuronal response signalled by P100 that has spatial luminance contrast characteristics, its amplitude would remain constant across phase angle. This indicates that its neuronal response is modulated by a signal that arises after object closure. P100 amplitude is predicted to increase linearly with spatial phase if modulation of the neural response by re-entrant projections involves a signal that arises before object closure.



Fig. 1. Pannel A shows the windmill pattern, panel B shows the regular dartboard pattern and panel C shows the RMS dartboard pattern used in our study. The two images in each panel illustrate how image pairs were used to generate our pattern reversing stimuli by shifting their phase with respect to the other. The image pairs depicted have a phase shift of Π . See text for an extensive description of the stimuli.

2. Materials and methods

Hypothesis1. Null Hypothesis (H0): P100 amplitude does not change with phase angle.

Alternative Hypothesis (H1): P100 amplitude increases with rotation phase angle.

Participants: Twelve healthy, adult volunteers (8 σ), aged between 23 and 36 years (mean 27 years; σ = 4.2 years) participated in the study and represent a convenience sample. All had normal visual acuity, an education at tertiary level and stated that they were not taking any prescription medication for any physiological or suffered from a psychiatric health issue. Data published in Ref. [44] was collected concurrently with the data reported here. The study protocol was approved by the local ethics committee (KEK-ZH E–50/2002) and conformed to the requirements of the 2008 revision of the World Medical Association Helsinki Declaration. All participants provided their written, informed consent.

2.1. Apparatus

Monitor: The stimuli were presented on a 22'' monitor (Dell ST2210B; Round Rock, TX, USA) set to a spatial resolution mode of 1650 by 1050 pixel and refresh rate of 60 Hz. The monitor's brightness was set to 80 %, the contrast to 90 %.

Stimuli: A detailed description of the properties of the patterns used is given in Ref. [46]. Only brief description of the main properties is provided here. The ratio of white to black area of windmill and regular dartboard was 50:50 in both. Viewed in terms of spatial frequency properties the two patterns had the same power in the f(0) function. Given the retinotopic organisation of V1, the two pattern result in the same ratio of cortical areas within which neurons are active and inactive. The stimulus area undergoing a change from black to white corresponds to the temporal luminance contrast property of these patterns, so the size of the neuronal population activated by their temporal luminance contrast was the same. The area undergoing a change from black to white was much smaller in RMS dartboard. Consequently, its temporal luminance contrast property was much smaller and with it the size of the neuronal population active during processing. The regular - and RMS dartboard had the same number of contrast edges or luminance contrast per unit area [48]. The two patterns had identical spatial luminance contrast properties and the same summed power in the spatial frequencies to which humans exhibit the highest contrast sensitivity i.e. 3-7 cycles/degree. The size of the neuronal population activated by their spatial luminance contrast was the same. This contrasts with the spatial luminance contrast of the windmill, which was smaller and hence activated a smaller neuronal population. Element size increased with eccentricity in order to compensate for the increase in receptive field size. The luminance of the white elements was 252 cd/m^2 , that of the black elements a luminance of 3.4 cd/m² (Minolta: LS 110; Osaka, Japan), corresponding to a Michelson contrast of 97.3 in all images. At the viewing distance of 0.83 m, the patterns occupied the central 10° of the visual field. All 12 participants viewed all 12 displays binocularly with their head positioned on a chin and forehead rest (Richmond Products Inc., Albuquerque, NM, USA).

Each pattern reversing displays consisted of a pair of images presented in alternation where the pattern in the two images were rotated by $\Pi/4$, $\Pi/2$, $3\Pi/4$ or Π radians with respect to the other. Increasing the rotation angle increased the phase angle between them. This led to the relative stimulus area changing from black to white increasing with increasing phase angle. The area of a disc of radius equal to that of the dartboard or windmill represented 100 %. At a phase angle of $\Pi/4$ radians the stimulus area changing from black to white amounted to 12.5 %. At $\Pi/2$ radians it amounted to 25 %, at $3\Pi/4$ radians to 37.5 % and at Π radians to 50 %. During a pattern reversing displays image pairs were exchanged every 500 ms for 60s; resulting in 120 reversals. Fig. 1 depicts the three types of images used.

To avoid an order effect, stimulus sequence was randomised using the Latin square method between participants.

Electrophysiology: EEG measurements were performed in the laboratory of the Biomedical Optics Research Laboratory at the University Hospital Zürich and followed the guidelines of the International Society for Clinical Electrophysiology of Vision (ISCEV) of 2009 [12]. Electric potentials were recorded using 32 active electrodes distributed across the scalp following the International 10/10 system [49,50]. To this end, electrodes were placed in an electrode cap (ActiCap 32, MES, Munich, Germany). Electrodes were located at the following sites: Fp1/2, F7/8, F3/4, FC5/6, Fz, FC1/2, T7/8, C3/4, Cz, TP9/10, CP5/6, CP1/2, P7/8, P3/4, Pz, PO9/10, O1/2 & Oz. In addition, electrodes AFz and FCz served as 'GROUND' and 'REFERENCE' respectively. Electrode impedance was kept at or below 5 k Ω and sampling rate was set to 500 Hz. Electric potentials at each electrode were stored on the HDD drive of a PC using commercial software (Brain Vision Recorder, Brain Products, Munich, Germany) running under Windows 7 (Microsoft, Redmond, WA, USA). During a recording session the monitor provided the only source of illumination.

Data processing: Offline processing of the EEG data was performed using 'Vision Analyser' (Ver. 2.1, Brain Products, Munich, Germany). The EEG data was bandpass filtered so that oscillations below 0.1 Hz and above 40 Hz and with a slope less than 24dB/oct and above 48dB/oct were removed. For each time point, we averaged the signal from all electrodes and re-referenced the signal of each electrode with respect to this average. Artefacts due to blinking were identified using the independent component analysis (ICA) module of Vision Analyzer 2.1 and removed. Lastly, any remaining artefacts were identified by visually and marked manually.

The visual evoked potential (VEP): The signal from electrode Oz was selected, as it is closely associated with neuronal activity in V1 [12,51,52]. To obtain the VEP for a pattern at a specific phase angle, data segments of 500 ms from the pattern at the phase angle were averaged, starting at an image exchange. The amplitude and latency of the four VEP component N75, P100, N135 and P240 reported by Marcar and Jäncke were noted [31]. N75 amplitude was the minimum electric potential between 50 ms and 80 ms, that of P100 the maximum between 70 ms and 120 ms, that of N135 as the minimum between 100 ms and 180 ms and that of P240 the maximum between 180 ms and 300 ms. The time point at which the maximum or minimum occurred served as their latency.

Statistical analysis: VEPs from each participant were obtained under several related conditions, so that they effectively served as

their own reference between conditions. We assessed differences in VEP amplitude and latency use the repeated measures ANOVA of JASP (JASP Team 2020, Ver. 0.14, [Computer Software], University of Amsterdam, Netherlands). The factors were "PATTERN" (WM, DB & RMS DB) and "PHASE ANGLE" ($\Pi/4$, $\Pi/2$, $3\Pi/4$ & Π). In order to reduce the risk of a Type I error, we set the threshold for a difference between conditions as $p \le 0.01$. Partial ETA² (η_p^2) served as our measure of effect size.

Neuronal source localisation: The site of highest current source density (CSD) was identified for each VEP component using the approach implemented in sLORETA-KEY. This method uses electric potentials between adjacent electrodes to calculate the current source density between them and does not require any a priori assumptions [53]. It has a spatial accuracy of 7 mm [54] sufficient to identify the Brodmann area of a VEP component. A detailed description of the method upon which LORETA is based is given in Ref. [55], so that only an outline will be provided here. First, a 3-dimensional distribution of current density is calculated for each time point based on the electric potentials of all 32 electrodes using a linear solution constrained by the requirement that the map is the smoothest solutions available. The current density maps are then projected onto a normalised brain with a volume of 2394 voxels using a three shell spherical model. To visualise the current density distribution for each of our conditions we averaged the CSD maps across all 12 participants. The topographic analysis of variance (TANOVA) module of LORETA enables an assessment of global difference in current density maps. This module performs a voxel-by voxel t-test of the current density maps from different conditions. This approach involves a non-parametric estimation of the probability distribution of the maximum of the t-statistic against a set of random distribution. Correction for multiple-testing employs the Bonferroni method. The non-parametric nature of this approach renders it free of the constraints imposed by of normal data distribution. We used TANOVA to compared the CSD maps from the windmill and RMS dartboard pattern to identify differences in current density associated with temporal - and spatial luminance contrast processing, as the temporal – and spatial luminance contrast properties in these two pattern was largest. This comparison was performed using the paired group module in the LORETA. CSD values were not normalised but smoothed across time using a factor 0.3. All t-values were based on a comparison against 20'000 randomisations. We accepted t-values with a p-value ≤ 0.05 as indicating the presence of a difference.

Temporal frequency analysis: Work by Frund and colleagues linked high spatial frequency processing in the human visual system to a prominence in low temporal frequencies in the VEP and vice versa [56]. In order to examine the presence of such a link in our data, we determined the time/frequency composition of the VEP across time, using the 'Wavelet' module in Vision Analyzer. The 'c' parameter of the 'Morlet' filter was 3.8, minimum frequency was 1 Hz, maximum frequency 40 Hz and step size 1 Hz. The time/frequency spectrum from the 12 participants were then averaged within each condition and the mean time/frequency spectrum of each VEP displayed in the form of a Winger plot and saved.



Fig. 2. Panel A depicts individual VEP to the windmill pattern rotated through Π radians. Panel B depicts individual VEP to the regular darboard rotated through Π radians. Panel C depicts individual VEP to the RMS darboard rotated through Π radians.

Lastly, we extracted peak power present in the alpha (8–13 Hz) and beta (14–30 Hz) band and compared it between conditions using a repeated measures ANOVA with the factors PATTERN and PHASE ANGLE.

3. Results

Comparing individual VEP to the three patterns.

Panels A–C of Fig. 2 show the individual VEP at electrode Oz to the three patterns when viewed in a pattern reversing display and a phase angle of Π radians.

3.1. Comparing the grand, mean VEP to the three patterns

Panels A-C of Fig. 3 show the grand mean VEP at Oz to the three patterns at each phase angle.

3.2. Comparing VEP component amplitude

Panels A–D of Fig. 4 show the grand mean amplitude of the four VEP components to the three patterns at each phase angle. Table 1 contains the results of the comparison of the individual VEP components (see Table 1).

N75 amplitude did not change between the three pattern nor across phase angle. No two-way interaction between the factors PATTERN and PHASE ANGLE was present. P100 amplitude to the windmill and regular dartboard exceeded that to the RMS dartboard. It increased with increasing phase angle. A two-way interaction between the factors PATTERN and PHASE ANGLE was present. N135 amplitude to the two dartboards exceeded that to the windmill but did not change across phase angle. No two-way interaction between the factors PATTERN and PHASE ANGLE was present. P240 amplitude to the two dartboards also exceeded that to the windmill but decreased with increasing phase angle. No two-way interaction between the factors PATTERN and PHASE ANGLE was present. Table 1a contains the results of our post-hoc comparison of component amplitude to the different conditions.

N75 amplitude did not differ between the three patterns nor between phase angles. P100 amplitude did not differ between the windmill and regular dartboard but differed between the two dartboards and between windmill and RMS dartboard. Differences in



Fig. 3. Panel A depicts the grand, mean VEP when the windmill was rotated through the four different angles. Panel B depicts the grand, mean VEP when the regular dartboard was rotated through the four angles. Panel C depicts the grand, mean VEP to the RMS dartboard was rotated through the four angles. This panel also contains the grand mean VEP obtained to the regular dartboard when rotated through $\Pi/4$ radians.

6



Fig. 4. Panel A shows the mean, peak amplitudes of the N75 VEP component to the three patterns when rotated through the four angles. Panel B shows the mean, peak amplitudes of the P100 VEP component to the three patterns when rotated through the four angles. Panel C shows the mean, peak amplitudes of the N135 VEP component to the three patterns when rotated through the four angles. Panel D shows the mean, peak amplitudes of the P240 VEP component to the three patterns when rotated through the four angles. Panel D shows the mean, peak amplitudes of the P240 VEP component to the three patterns when rotated through the four angles. The error bars indicate the standard error of the mean.

Table 1

The table holds the results from the repeated measures ANOVA of individual VEP component amplitude to the three pattern and four phase angles. Violation of sphericity was corrected by adjusting the degrees of freedom using the method of Huynh-Feldt.

	F	df	df Residuals	р	η^2
N75					
Pattern	1.171	2.000	33.000	0.323	0.040
Phase angle	2.167	3.352	85.491	0.097	0.022
Pattern*Phase angle	1.746	5.181	85.491	0.130	0.035
P100					
Pattern	8.849	2.000	33.000	< 0.001	0.176
Phase angle	32.557	2.044	67.439	< 0.001	0.206
Pattern*Phase angle	6.561	4.087	67.439	< 0.001	0.083
N135					
Pattern	7.059	2.000	33.000	0.003	0.250
Phase angle	0.971	2.630	80.443	0.397	0.004
Pattern*Phase angle	1.750	4.857	80.443	0.134	0.015
P240					
Pattern	8.678	2.000	33.000	< 0.001	0.254
Phase angle	5.539	2.770	91.395	0.002	0.035
Pattern*Phase angle	1.129	5.539	91.395	0.352	0.015

P100 amplitude were present between phase angle $\Pi/4 \& 3\Pi/4$, $\Pi/4 \& \Pi$ and between $\Pi/2 \& \Pi$ but not between the remaining phase angles. N135 amplitude to the two dartboards exceeded that to the windmill but did not differ between the two dartboards. Its amplitude differ across phase angles. P240 amplitude differed between the windmill and the two dartboards but not between the two dartboards. Its amplitude differed between phase angles $\Pi/2 \& \Pi$ but not between the remaining phase angles.

Table 1a

Result of post hoc analysis of VEP component amplitude at the four phase angles and 3 patterns. All p-values adjusted for comparing a family of 6 phase angles or 3 patterns using the method Holm-Bonferroni. Phase angle results are averaged over PATTERN and pattern results are averaged over PHASE ANGLE.

Post Hoc Test				
N75	Mean Δ	SE	t-value	p_{holm}
П/4 vs П/2	0.071	0.327	0.218	1.000
П/4 vs 3П/4	-0.558	0.327	-1.704	0.489
П/4 vs П	-0.234	0.327	-0.714	1.000
П/2 vs 3П/4	-0.629	0.327	-1.922	0.380
П/2 vs П	-0.305	0.327	0.932	1.000
3П/4 vs П	0.324	0.327	0.990	1.000
Dartboard vs RMS Dartboard	-0.139	0.456	-0.305	0.763
Dartboard vs Windmill	0.769	0.456	1.687	0.317
RMS Dartboard vs Windmill	0.630	0.456	1.382	0.362
Post Hoc Test				
P100	Mean Δ	SE	t-value	Pholm
П/4 vs П/2	-1.105	0.481	-2.298	0.028
Π/4 vs 3Π/4	-2.350	0.481	-4.887	< 0.001
П/4 vs П	-3.743	0.481	-7.785	< 0.001
П/2 vs 3П/4	-1.245	0.481	-2.590	0.028
П/2 vs П	-2.638	0.481	-5.487	< 0.001
3П/4 vs П	-1.393	0.481	-2.897	0.020
Dartboard vs RMS Dartboard	2.105	0.572	3.579	0.003
Dartboard vs Windmill	0.990	0.572	1.729	0.098
RMS Dartboard vs Windmill	3.095	0.572	5.408	< 0.001
Post Hoc Test				
N135	Mean Δ	SE	t-value	Pholm
П/4 vs П/2	0.255	0.337	0.758	1.000
Π/4 vs 3Π/4	-0.323	0.337	-0.960	1.000
П/4 vs П	0.094	0.337	0.280	1.000
Π/2 vs 3Π/4	-0.578	0.337	-1.717	0.572
П/2 vs П	-0.161	0.337	-0.478	1.000
3П/4 vs П	0.417	0.337	1.240	1.000
Dartboard vs RMS Dartboard	1.440	0.632	2.280	0.033
Dartboard vs Windmill	2.465	0.632	3.903	0.002
RMS Dartboard vs Windmill	3.905	0.632	6.183	<0.001
Post Hoc Test				
P240	Mean Δ	SE	t-value	Pholm
П/4 vs П/2	-0.374	0.191	-1.956	0.192
Π/4 vs 3Π/4	0.199	0.191	1.042	0.610
П/4 vs П	0.393	0.191	2.055	0.192
Π/2 vs 3Π/4	0.573	0.191	2.998	0.026
П/2 vs П	0.767	0.191	4.011	0.002
ЗП/4 vs П	0.194	0.191	1.013	0.610
Dartboard vs RMS Dartboard	-0.444	0.298	-1.448	0.151
Dartboard vs Windmill	-1.359	0.298	-4.556	< 0.001
RMS Dartboard vs Windmill	-1.802	0.298	-6.044	< 0.001

3.3. Comparing VEP component latency

Panels A–D of Fig. 5 show the grand mean latency of the four VEP components to the three patterns at each phase angle.

Table 2 contains the results of the ANOVA for repeated measures of individual latencies of the four VEP components to each of the three patterns.

N75 latency remained the same across phase angle but differed between the three patterns. No two-way interaction between pattern and phase angle was present. There was a change in P100 latency between the three pattern and across phase angle. No two-way interaction between the three pattern and phase angle was present. There was a change in N135 and P240 latency between the pattern, but only N135 latency changed across phase angle. No two-way interaction between the factors PATTERN and PHASE ANGLE was present.

Table 2a contains the results of our post-hoc comparison of component latency to the different conditions.

N75 latency was shorter for the windmill than the two dartboards. P100 latency changed between the phase angle $\Pi \& \Pi/2$ as well as $\Pi \& \Pi/4$. Its latency to the RMS dartboard was shorter compared to the windmill and regular dartboard but P100 latency did not change between the latter two. N135 latency was longer to the windmill than to the two dartboards. Its latency did not change between



Fig. 5. Panel A shows the latencies of the N75 VEP component to the three patterns when rotated through the four angles. Panel B shows the latencies of the P100 VEP component to the three patterns when rotated through the four angles. Panel C shows the latencies of the N135 VEP component to the three patterns when rotated through the four angles. Panel D shows the latencies of the P240 VEP component to the three patterns when rotated through the four angles. The error bars indicate the standard error of the mean.

Table 2

The table holds the results from the repeated measures ANOVA of individual VEP component latency to the three pattern and four phase angles. Violation of sphericity was corrected by adjusting the degrees of freedom using the method of Huynh-Feldt. Partial ETA squared (η_p^2) served as a measure of effect size.

	F	df	df Residuals	р	η_p^2
N75					
PATTERN	15.927	1.884	20.728	< 0.001	0.591
PHASE ANGLE	1.763	2.937	32.309	0.028	0.138
PATTERN*PHASE ANGLE	0.701	3.508	38.587	0.021	0.060
P100					
PATTERN	14.999	2.000	23.744	< 0.001	0.577
PHASE ANGLE	8.760	3.000	36.236	< 0.001	0.433
PATTERN*PHASE ANGLE	1.323	5.246	57.708	0.266	0.107
N135					
PATTERN	12.424	1.676	18.434	< 0.001	0.530
PHASE ANGLE	7.473	2.912	32.030	< 0.001	0.405
PATTERN*PHASE ANGLE	0.487	3.200	35.201	0.705	0.042
P240					
PATTERN	13.509	1.164	12.799	0.002	0.551
PHASE ANGLE	4.126	3.000	37.284	0.014	0.273
PATTERN*PHASE ANGLE	1.089	5.441	59.855	0.378	0.090

phase angle $\Pi/4 \& \Pi/2$ and $3\Pi/4 \& \Pi$. Its latency changed between phase angles $3\Pi/4 \& \Pi/2$, $3\Pi/4 \& \Pi/4$, $\Pi \& \Pi/4 \& \Pi/2$. P240 latency was longer to the windmill than to the two dartboards but did not change between the latter. It changed between phase angle $3\Pi/4 \& \Pi$ and $3\Pi/4 \& \Pi/4$ but not between any of the remaining phase angles.

Table 2a

Result of post hoc analysis of VEP component latency at the different phase angles and patterns. All p-values adjusted for comparing a family of 6 phase angles or 3 patterns using the method Holm-Bonferroni. Phase angle results are averaged over PATTERN and pattern results are averaged over PHASE ANGLE.

Post Hoc Test				
N75	Mean Δ	SE	t-value	Pholm
Π/4 vs Π/2	4.111	2.498	1.646	0.437
Π/4 vs 3Π/4	5.167	2.498	2.068	0.279
П/4 vs П	4.566	2.498	1.823	0.386
Π/2 vs 3Π/4	1.056	2.498	0.423	1.000
П/2 vs П	0.444	2.498	0.178	1.000
3П/4 vs П	-0.611	2.498	-0.245	1.000
Dartboard vs RMS Dartboard	-5.375	2.725	-1.973	0.061
Dartboard vs Windmill	-9.792	2.725	-3.593	0.003
RMS Dartboard vs Windmill	-15.167	2.725	-5.566	<0.001
Post Hoc Test				
P100	Mean A	SE	t-value	Pholm
Π/4 vs Π/2	-2.389	1.739	-1.373	0.358
Π/4 vs 3Π/4	-4.667	1.739	-2.683	0.045
П/4 vs П	-8.556	1.739	-4.919	< 0.001
Π/2 vs 3Π/4	-2.278	1.739	-1.310	0.358
П/2 vs П	-6.167	1.739	-3.545	0.006
3П/4 vs П	-3.889	1.739	-2.236	0.097
Dartboard vs RMS Dartboard	11.458	2.769	4.277	< 0.001
Dartboard vs Windmill	2.208	2.769	0.824	0.419
RMS Dartboard vs Windmill	13.667	2.769	5.101	<0.001
Post Hoc Test				
N135	Mean Δ	SE	t-value	Pholm
Π/4 vs Π/2	-0.611	3.872	-0.158	0.876
Π/4 vs 3Π/4	-10.500	3.872	-2.712	0.042
П/4 vs П	-15.167	3.872	-3.917	0.003
Π/2 vs 3Π/4	-9.889	3.872	-2.554	0.046
П/2 vs П	-14.556	3.872	-3.760	0.003
3П/4 vs П	-4.667	3.872	-1.205	0.473
Dartboard vs RMS Dartboard	2.875	4.099	0.701	0.490
Dartboard vs Windmill	16.083	4.099	3.923	0.001
RMS Dartboard vs Windmill	18.958	4.009	4.625	< 0.001
Post Hoc Test				
P240	Mean A	SE	t-value	Pholm
Π/4 vs Π/2	-4.778	9.375	-0.510	1.000
Π/4 vs 3Π/4	5.056	9.375	0.539	1.000
П/4 vs П	-25.611	9.375	-2.732	0.050
П/2 vs 3П/4	9.833	9.375	1.049	0.905
П/2 vs П	-20.833	9.375	-2.222	0.133
3П/4 vs П	-30.667	9.375	-3.271	0.015
Dartboard vs RMS Dartboard	12.000	10.008	1.199	0.243
Dartboard vs Windmill	37.833	10.008	3.780	0.002
RMS Dartboard vs Windmill	49.833	10.008	4.980	< 0.001

3.4. Source localisation

Panels A–D of Fig. 6 show the current density across cortex during temporal luminance contrast processing. It peak was located at the occipital pole. Panels D–F of Fig. 6 show the current density across cortex during spatial luminance contrast processing. Its peak was located in calcarine sulcus but extended to cuneus, fusiform and inferior temporal cortex.

Fig. 7 shows the result of the statistical comparison of the current density across cortex during processing of the windmill and the RMS dartboard. Cortical regions where CSD during processing of the windmill was higher are shown in shades of blue. Regions where CSD was higher during processing of the RMS dartboard are shown in yellow, orange and red. During processing of the windmill CSD was higher in lingual gyrus, cuneus and middle occipital cortex than during processing of the RMS dartboard. During processing of the RMS dartboard cortex than during processing of the RMS dartboard. During processing of the RMS dartboard cortex than during processing of the RMS dartboard. During processing of the RMS dartboard cortex and supplemental motor area.

3.5. Time-frequency analysis

Fig. 8 depicts the time-frequency composition of the VEP to the three patterns at the four phase angles in the form of Winger plots.

The current density during temporal - and spatial luminance contrast processing projected onto cortex



Fig. 6. Panels A–C show the distribution of the current source density during the P100 VEP component to the three patters at the four phase angles. This component reflected the neuronal activity during the neuronal luminance component. Panels D–F show the distribution of the current source density during the P240 VEP component to the three patterns at the four phase angles. This component reflected the neuronal activity during the neuronal contrast component reflected the neuronal activity during the neuronal contrast component.

Difference in current source density across cortex during windmill and RMS dartboard processing



Fig. 7. The figure shows the significant differences in CSD rendered onto a standardised cortical surface. The areas coloured yellow, orange and red indicate cortex where CSD during processing of the windmill pattern exceeded that during processing of the RMS-dartboard. The areas coloured in shades of blue indicate cortex where CSD during processing of the RMS-dartboard exceeded that during processing of the windmill.



Fig. 8. The six panels depict the time-frequency composition of the oscillations in the electric potential to each stimulus in the form of Winger plots. The left column depicts those obtained to the windmill pattern at the four phase angles. The middle column depicts those obtained to the dartboard pattern at the four phase angles. The right column depicts those obtained to the RMS dartboard pattern at the four rotations angle. The presence of high temporal frequency oscillations (β -band) during processing of the windmill and dartboard pattern by the neuronal luminance component are apparent at the larger phase angle. Low temporal frequency oscillations (δ -band) during processing of the two dartboards pattern by the neuronal contrast component are apparent at all phase angle.

Faster oscillations in the VEP were prominent during the initial neuronal response reflecting the relative size of the stimulus experiencing an increase in luminance; consistent with a response based on a mechanism selective to temporal luminance contrast. Oscillations in this frequency band increased in prominence as phase angle increased but subsided before the next image exchange. Slower oscillations in the VEP were prominent during the neuronal response reflecting the number of contrasts per unit area; consistent with a response based on a mechanism selective to spatial luminance contrast. These slower oscillations were unaffected by phase angle and persisted until the next image exchange.

Table 3 contains the results of our statistical comparison of the power in the alpha and beta band using a repeated measures ANOVA. Power in the alpha band did not differ between patterns nor across phase angle. A to-way interaction between the factors PATTERN and PHASE ANGLE was present. Power in the beta band did not differ between patterns but increased with increasing phase angle. A two-way interaction between the factors PATTERN and PHASE ANGLE was present the factors PATTERN and PHASE ANGLE was present.

4. Discussion

4.1. Summary of main findings

N75 amplitude remained the same level across the three patterns and four phase angles. P100 amplitude to the windmill and regular dartboard increased with phase angle. We therefore reject H0 in favour of H1 of our Hypothesis 1. P100 amplitude to the windmill exceeded that to the regular dartboard, particularly at larger phase angles. We therefore reject H0 in favour of H1 of our Hypothesis 2. P100 amplitude to the windmill and regular dartboard pattern exceeded that to the RMS dartboard. A two-way interaction between phase angle and pattern was observed for P100 amplitude. N135 amplitude from the RMS and regular dartboard exceeded that from the windmill but was invariant across phase angle. P240 amplitude from the two dartboards exceeded that from the windmill. Its amplitude decreased with increasing phase angle for the windmill and regular dartboard. P240 amplitude also dropped with increasing phase angle; a response not observed in N135. N75 latency did not change across patterns or phase angle. P100, N135 and P240 latency increased with phase angle in all three patterns. P100 latency from the RMS dartboard was shorter than from the dartboard or windmill, but in the latter two it increased with increasing phase angle. N135 and P240 latencies from the two dartboards were shorter than from the windmill and increased with increasing phase angle.

Table 3

The table holds the results from the repeated measures ANOVA of power in alpha and beta band to the three pattern and four phase angles. Violation of sphericity was corrected by adjusting the degrees of freedom using the method of Huynh-Feldt. Partial ETA squared (η_p^2) served as a measure of effect size.

	F	df	df Residuals	р	η_p^2
Alpha band					
PATTERN	2.949	1.951	21.462	0.075	0.211
PHASE ANGLE	5.455	1.397	15.368	0.024	0.332
PATTERN*PHASE ANGLE	4.520	1.773	19.507	0.005	0.291
Beta band					
PATTERN	8.211	1.174	12.911	0.011	0.427
PHASE ANGLE	10.359	1.170	12.867	0.005	0.485
PATTERN*PHASE ANGLE	5.863	2.199	24.186	0.007	0.348

Our source localisation revealed that during temporal luminance contrast processing, the highest current density was located in Cuneus and Precuneus. This points to areas of the dorsal processing stream as the origin of re-entrant projections modulation of the neuronal response in V1. During spatial luminance contrast processing the highest current density was located in inferior temporal cortex. This points to areas of the ventral processing stream as the origin of re-entrant projections modulating the neuronal response in V1. Oscillations in the beta band were prominent during temporal luminance contrast processing. Power in this band did not vary between patterns but increased with phase angle. Oscillations in the alpha band VEP were prominent during spatial luminance contrast processing. Power in this band did not vary between patterns and across phase angles.

4.2. Relative contribution of V1 and area V2 to the neuronal response captured by the VEP

By limiting our analysis to the amplitudes and latencies of components of the VEP recorded at electrode Oz, we captured the waxing and waning of the neuronal response of the same patch of V1 [12]. Located at the pole of occipital cortex, this electrode covers a patch of visual cortex that receives its input from the fovea [57]. The vertical meridian divides the fovea. Its cortical representation runs the V1–V2 border [58]. There is a large inter-individual variation in the location of this border. This section will show that the two areas are anatomically and functionally sufficiently similar as to render variation in their relative contribution to the VEP immaterial. For the two areas to influence the VEP their common border must be located within the cortex underlying electrode Oz. An imbalance in size of active neuronal population is improbable as an explanation, as the surface area of area V2 is between 75 and 90 % of the surface area of V1 [59]. Hence, the number of neurons active during retinal input processing will be similar. In both areas neurons selectively responding to motion, orientation or chromatic content congregate in sub-regions with distinct affinity for cytochrome oxidase specific staining; "blobs" in V1 [60], "stripes" in area V2 [61]. Lastly, neuronal activity in V1 is modulated by re-entrant projections originating in area V2 within 14 ms [26]. Given the extensive interconnections between the two areas, their respective neuronal response will rapidly converge. The two areas are anatomically and functionally sufficiently similar and the activity converges sufficiently fast, so that their relative contribution to the VEP can be considered identical.

4.3. Relative contribution of magno-, parvo- and koniocellular input to the neuronal response in V1 captured by the VEP

Primary visual cortex (V1) receives three types of retinal input carried by magno-, parvo- and koniocellular neurons. Koniocellular neurons respond to chromatic contrast only [62], so that their contribution to the neuronal response to our pattern defined by luminance contrast only will be negligible. Hence, this section will focus on the contributions of magno- and parvocellular neurons to the neuronal response recorded by the VEP. Our earlier work using dartboard and windmill pattern noted that N75 and P100 amplitude increased with relative stimulus area undergoing a reversal in luminance. Given the retinotopic organisation of V1, we concluded that they reflect the size of the neuronal population activated by the change in luminance. N135 and P240 amplitude reflected the number of contrast edges per unit area [48] and with it the size of the active neuronal population processing these [31,43, 46]. In a study increasing the luminance gradient of the edges in a series dartboard patterns, N75 and P100 amplitude increased in a non-linear manner with luminance gradient, tailoring off when the luminance gradient [45]. A non-linear response, saturating at low luminance is a characteristic of magnocellular neurons, while a linear response is a characteristic of parvocellular neurons.

Receptive field size of retinal ganglion cells increases with eccentricity, paralleling a decline in visual acuity [64–69]. The retinal input from the fovea occupies between 3 and 6 times as much area in human V1 than that originating outside of the fovea [70], an over-representation termed 'cortical magnification'. Input from the fovea contains 35 times more parvocellular than the magnocellular axons, a ratio that drops to 5:1 at 15° eccentricity [71]. Compensated for receptive field size, parvo- and magnocellular neurons are equally adept at resolving spatial luminance contrast [72,73]. Consequently, the neuronal response captured in the VEP at electrode Oz is driven by activity from within the fovea and hence to a greater extent by parvo-rather than magnocellular neurons [74].

Processing the retinal input involves iterative interactions between striate and extra-striate areas [27]. In such an interconnected system, the neuronal response in striate cortex is as much the result of an interaction between striate cortex and individual extra-striate areas as well as the interaction between different extra-striate areas. Re-entrant connection with fast conducting axons will exert their influence on the ongoing neuronal response more rapidly. A fast change in neuronal response results in a faster change in the electric

potential at the scalp which manifests as high temporal frequencies in the VEP. The presence of high temporal frequencies in the neuronal response captured by N75 and P100 is consistent with this response being modulated by re-entrant projections with axons with fast conduction velocities. The presence of slow temporal frequencies in the neuronal response captured by N135 and P240 is consistent with the response being modulated by axons with slow conduction velocities. This concurs with the observation that high temporal frequencies in the VEP are more prominent during processing of low spatial frequency and vice versa [56]. Axonal conduction velocities of magnocellular neurons are faster than that those of parvocellular neurons, so that the neuronal response during retinal input processing is initially modulated by magnocellular - followed by parvocellular neurons. The temporal frequency composition of the VEP is consistent with the neuronal response during temporal luminance contrast processing being modulated by re-entrant projections with fast axonal conduction velocities. Fast axonal conduction velocity is a characteristic of magnocellular neurons, while slower axonal conduction velocities is a characteristic of parvocellular neurons.

Sampling temporal luminance contrast at any point across the visual field requires a single detector. Sampling spatial luminance contrast however requires numerous detectors; i.e. to sample 360° with a resolution of 10° involves 36 detectors. This is exemplified by orientation selectivity in V1 of many species being organised in a pinwheel fashion [75]. The difference in the number of magno-compared to parvocellular neurons is consistent with their respective role in processing temporal – and spatial luminance contrast.

Linking magnocellular neurons to temporal - and parvocellular neurons to spatial luminance contrast processing leads to a paradox between their response characteristics and the theoretical properties of a temporal – and spatial luminance contrast detector. For a temporal luminance contrast detector to signal a wide range of luminance change, its responds level should vary linearly with luminance, i.e. exhibit a linear response characteristic. However, a linear response to luminance it is a characteristic of parvocellular neurons. Conversely, for a detector to reliably detect a spatial luminance contrast its response level should saturate at low luminance contrast, i.e. exhibit a non-linear response to luminance. A non-linear response to luminance is a characteristic of magnocellular neurons. There appears to be a transposition between stimulus selectivity and response characteristic of magno- and parvocellular neurons and the neuronal response captured by the VEP during temporal and spatial luminance contrast processing.

4.4. The origin of re-entrant projections and their influence on the neuronal response

Our temporal frequency analysis of the VEP revealed that the neuronal response in V1 is modulated by re-entrant projections with fast axonal conduction during temporal luminance contrast processing followed by re-entrant projections with slow axonal conduction velocities during spatial luminance contrast processing. Successive activation of cortical areas occurs faster along the dorsal processing stream than along the ventral processing stream [76]. This points to the former being interconnected by neurons with fast conducting axons and the latter by neurons with slow conducting axons. During temporal luminance contrast processing our source localisation placed the highest CSD in areas of the dorsal stream and during spatial luminance contrast processing in areas of the ventral stream. This section examines the presence of other characteristics of the VEP components are consistent with properties of the neuronal response in the two processing streams. The retinotopic organisation of V1 translates relative stimulus area changing from black to white into neuronal population size activated by this increase in luminance. For P100 amplitude to signal the relative stimulus area increasing in luminance, re-entrant projections must conserve the spatial distribution of neurons in V1 activated by the thalamic input. Re-entrant projections between cortical areas with a retinotopic organisation are less diffuse than those between cortical areas lacking such an organisation [77]. Areas of the dorsal processing stream sport a retinotopic representation of at least part of the contralateral visual field [78,79], while areas of the ventral processing stream exchange a retinotopic organisation in favour of an organisation based on features and object identity [80-83]. In contrast. N135 and P240 amplitude reflect the pattern, i.e. windmill or dartboard, rather than stimulus area changing from black to white. We interpret this to indicate that re-entrant projections are no longer constraint by retinotopy and carry information on object identity. There are parallels between the neuronal response during temporal- and spatial luminance contrast processing, properties of magno- and parvocellular neurons and characteristics of cortical areas of the dorsal - and ventral processing stream. These observations concur with our source localisation that during spatial luminance contrast processing the site of highest current density is located in areas of the dorsal processing stream and during spatial luminance contrast processing in areas of the ventral processing stream (See Fig. 7) [84].

4.5. Limitations, loose ends and open issues

In this final section, we will highlight some issues influencing the wider relevance of our findings and some issues that merit addressing in future studies.

The first issue concerns the general relevance of our findings as it is based on measurements of a dozen participants. While this may limit the ability to generalise our findings, the findings reported are consistent with our previous work. The second, concerns the accuracy and reliability of our source localisation, given that is was based on 32 electrodes. KEY-LORETA is provides an accuracy of 10 mm in localising the source of an electric signal using 16 electrodes [13] Doubling the number of electrodes does increase accuracy or reliability of the source localisation using KEY-LORETA, however it does so with diminishing returns, i.e. doubling the number of electrodes does not double accuracy or reliability. The use of 32 electrodes leaves our source localisation with sufficiently accurate to identify the Brodmann area of a signal [85]. Our observation that the neuronal origin of our signals were restricted to occipital cortex is in agreement with work involving subdural recording during surgery in man [86] and monkey [87] reporting little activity to pattern reversing stimuli beyond area V2. The third, is the difference in finding between the present study and our previous investigations. In

previous investigations we observed that for the same population size active during temporal luminance contrast processing P100 amplitude was smaller if the population size processing spatial luminance contrast was larger. Similarly, for the same neuronal population size active during spatial luminance contrast processing N135 amplitude was smaller when the size of the neuronal population active during temporal luminance contrast processing was larger [31,43-46]. In our present study, its amplitude did not differ between these patterns. Also, for the same neuronal population size active during temporal luminance contrast processing, P100 latency was shorter when the neuronal population active during spatial luminance contrast processing was larger. Conversely, for the same neuronal population size active during spatial luminance contrast processing, N135 latency was longer when the neuronal population active during temporal luminance contrast processing was larger. No such difference in P100 and N135 amplitude and latency was observed in the present study. Whether this difference is accounted for by the relative small number of participants measured is uncertain but in our opinion unlikely. It is interesting to note that the influence of dipole interaction on VEP components that we reported in our previous work involved either variation of a dartboard pattern [31,44,45] or variation of a windmill pattern [43]. Clarifying this and the previous issues merits further investigation. The forth, is the re-emergence of a neuronal response linked to temporal luminance contrast processing during a neuronal response processing spatial luminance contrast. This response resulted in P240 amplitude decreasing linearly with increasing phase angle. N135 amplitude showed no such reaction, indicating that this neuronal response emerged later. The presence of this neuronal response is unexpected as our previous work concluded that the neuronal response associated with temporal luminance contrast processing is phasic in nature [31,43–46]. Reactivation of neuronal responses in V1 has been reported in the monkey [33] and humans [32]. These studies however linked the reactivated neuronal response following object closure, while the characteristic of the reactivated neuronal response in our study preceded object closure. The reactivated neuronal response rendered P240 less positive. This suggests that it either arises due to activation of supragranular laminae by re-entrant projections or is inhibitory in nature. This is also an issue that merits future investigation. A final issue is the presence of neuronal response in supplementary motor area (SMA). The presence of this neuronal response is unexpected as the only motor response required by our paradigm was fixation. The role of this neuronal response in relation to our paradigm is unclear, as no motor response was require from our participants.

5. Conclusions

From the findings of our present investigation, we conclude that both amplitude and latency of VEP components arise from independent neuronal responses processing temporal – and spatial luminance contrast. It also corroborates findings form or previous work that the neuronal response during temporal luminance contrast processing is subject to modulation by re-entrant projections with fast axonal conduction velocities originating in areas of the dorsal processing stream. And that the neuronal response during spatial luminance contrast processing is subject to modulation by re-entrant projections with slow axonal conduction velocities originating in areas of the ventral processing stream. We failed to observe any influence linked to dipole interaction on the VEP as noted in our previous work. The role played by pattern in the manifestation of dipole interaction on the VEP is something that needs to be addressed in future work. Having set out to investigate the influence of spatial luminance contrast signal on early visual processing, i.e. P100, we discovered an influence of temporal luminance contrast signal on late visual processing, i.e. P240.

Financial disclosure

The work reported in this article was performed as an investigator-initiated trial (IIT) without financial support from a third party.

Data availability statement

We are willing to provide the dataset through a Data Transfer Agreement to any legitimate researcher seeking access for replication analysis. Requests for data sharing or access should be formally submitted to the Data Governance Board of the University Hospital Zürich at data-governance@usz.ch or the Research Data Service Centre of the Clinical Trials Centre at the University Hospital Zürich via email at ctc-rdsc@usz.ch.

CRediT authorship contribution statement

Valentine L. Marcar: Writing – review & editing, Writing – original draft, Validation, Software, Project administration, Methodology, Investigation, Formal analysis, Conceptualization. Martin Wolf: Writing – review & editing, Validation, Resources.

Declaration of competing interest

The authors declare the following financial interests/personal relationships which may be considered as potential competing interests:Valentine L. Marcar has patent #International Patent Number: PCT/EP2022/061870 issued to None. If there are other authors, they declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

Acknowledgements

No individual or organisation requires acknowledgement.

List of abbreviations

ANOVA	Analysis of Variance
BA	Broadman Area
CSD	Current Source Density
DB	Dartboard
DC	Direct Current
EEG	Electroencephalography
ERP	Event Related Potential
HDD	Hard Disk Drive
Hz	Hertz
ICA	Independent Component Analysis
ISCEV	International Society for Clinical Electrophysiology of Vision
PC	Personal Computer
sLORETA	-KEY Standardized Low Resolution Brain Electric Tomography- Key Institute Zürich
RMS	Root-Mean Squared
SMA	Supplementary Motor Area
V1	Primary Visual Cortex
V2	Secondary Visual Cortex
VEP	Visual Evoked Potential
WM	Windmill

Appendix A. Supplementary data

Supplementary data to this article can be found online at https://doi.org/10.1016/j.heliyon.2024.e30752.

References

- S. Ogawa, et al., Intrinsic signal changes accompanying sensory stimulation: functional brain mapping with magnetic resonance imaging, Proc. Natl. Acad. Sci. U.S.A. 89 (13) (1992) 5951–5955.
- [2] M. Waliszewska-Prosol, et al., Visual and brainstem auditory evoked potentials in HCV-infected patients before and after interferon-free therapy a pilot study, Int. J. Infect. Dis. 80 (2019) 122–128.
- [3] E. Dziadkowiak, et al., Visual evoked potentials as potential biomarkers of visual function in patients with primary sjogren's syndrome, J. Clin. Med. 10 (18) (2021).
- [4] L. Vleugels, et al., Temporal resolution deficits in the visual fields of MS patients, Vision Res 39 (14) (1999) 2429-2438.
- [5] H.S. Kiiski, et al., Delayed P100-like latencies in multiple sclerosis: a preliminary investigation using visual evoked spread spectrum analysis, PLoS One 11 (1) (2016) e0146084.
- [6] R.A. Lewis, Oculocutaneous albinism type 1, in: R.A. Pagon, et al. (Eds.), GeneReviews(R), Seattle (WA), 1993.
- [7] R.A. Lewis, Oculocutaneous albinism type 2, in: R.A. Pagon, et al. (Eds.), *GeneReviews*(R), Seattle (WA), 1993.
- [8] A. Fiorentini, et al., Visual ageing: unspecific decline of the responses to luminance and colour, Vision Res 36 (21) (1996) 3557–3566.
- [9] G. Acaroglu, et al., Subclinical optic neuropathy in Graves' orbitopathy, Jpn. J. Ophthalmol. 47 (5) (2003) 459-462.
- [10] J. Lachapelle, et al., Texture segregation in traumatic brain injury-a VEP study, Vision Res 44 (24) (2004) 2835-2842.
- [11] F. Di Russo, et al., Impaired visual processing of contralesional stimuli in neglect patients: a visual-evoked potential study, Brain 131 (Pt 3) (2008) 842–854.
- [12] J.V. Odom, et al., ISCEV standard for clinical visual evoked potentials (2009 update), Doc. Ophthalmol. 120 (1) (2010) 111-119.
- [13] D. Cohen, et al., MEG versus EEG localization test using implanted sources in the human brain, Ann. Neurol. 28 (6) (1990) 811–817.
- [14] L. Ziccardi, et al., Multifocal VEP provide electrophysiological evidence of predominant dysfunction of the optic nerve fibers derived from the central retina in Leber's hereditary optic neuropathy, Graefes Arch. Clin. Exp. Ophthalmol. 253 (9) (2015) 1591–1600.
- [15] G.G. Celesia, Visual evoked potentials and electroretinograms, in: E. Niedmeyer, L. Da Silva (Eds.), Electroencephalography: Basic Principles, Clinical Applications and Related Fields, Williams and Wilkins, Baltimore, 1993, pp. 911–936.
- [16] O.D. Creutzfeldt, U. Kuhnt, Electrophysiology and topographic distribution of visual evoked potentials in animals, in: R. Jung (Ed.), Handbook of Sensory Physiology, Springer, Berlin, 1973, pp. 595–646.
- [17] U. Mitzdorf, B.H. Li, E. Poppel, Mass-action view of single-cell responses to stimulation of the receptive field and/or beyond: exemplification with data from the rabbit primary visual cortex, Electroencephalogr. Clin. Neurophysiol. 92 (5) (1994) 442–455.
- [18] P.L. Nunez, Electric Fields of the Brain: the Neurophysics of EEG, Oxford University Press, London, 1981.
- [19] S. Sutton, et al., Evoked-potential correlates of stimulus uncertainty, Science 150 (3700) (1965) 1187–1188.
- [20] M. Bar, A cortical mechanism for triggering top-down facilitation in visual object recognition, J. Cognit. Neurosci. 15 (4) (2003) 600-609.
- [21] G. Michalareas, et al., Alpha-beta and gamma rhythms subserve feedback and feedforward influences among human visual cortical areas, Neuron 89 (2) (2016) 384–397.
- [22] A.M. Bastos, et al., Visual areas exert feedforward and feedback influences through distinct frequency channels, Neuron 85 (2) (2015) 390–401.
- [23] J.J. Foxe, G.V. Simpson, Flow of activation from V1 to frontal cortex in humans. A framework for defining "early" visual processing, Exp. Brain Res. 142 (1) (2002) 139–150.
- [24] D.J. Felleman, D.C. Van Essen, Distributed hierarchical processing in the primate cerebral cortex, Cerebr. Cortex 1 (1) (1991) 1–47.
- [25] J.M. Hupe, et al., Feedback connections act on the early part of the responses in monkey visual cortex, J. Neurophysiol. 85 (1) (2001) 134–145.

- [26] C.E. Schroeder, A.D. Mehta, S.J. Givre, A spatiotemporal profile of visual system activation revealed by current source density analysis in the awake macaque, Cerebr. Cortex 8 (7) (1998) 575–592.
- [27] R.J. Douglas, K.A. Martin, Recurrent neuronal circuits in the neocortex, Curr. Biol. 17 (13) (2007) R496–R500.
- [28] I. Rudvin, A. Valberg, Flicker VEPs reflecting multiple rod and cone pathways, Vision Res 46 (5) (2006) 699–717.
- [29] J.D. Victor, V. Zemon, The human visual evoked potential: analysis of components due to elementary and complex aspects of form, Vis. Res. 25 (12) (1985) 1829–1842.
- [30] V. Zemon, J. Gordon, Luminance-contrast mechanisms in humans: visual evoked potentials and a nonlinear model, Vision Res 46 (24) (2006) 4163-4180.
- [31] V.L. Marcar, L. Jancke, To see or not to see; the ability of the magno- and parvocellular response to manifest itself in the VEP determines its appearance to a pattern reversing and pattern onset stimulus, Brain Behav 6 (11) (2016) e00552.
- [32] K. Heinen, J. Jolij, V.A. Lamme, Figure-ground segregation requires two distinct periods of activity in V1: a transcranial magnetic stimulation study, Neuroreport 16 (13) (2005) 1483–1487.
- [33] P.R. Roelfsema, M. Tolboom, P.S. Khayat, Different processing phases for features, figures, and selective attention in the primary visual cortex, Neuron 56 (5) (2007) 785–792.
- [34] D.J. Tolhurst, Sustained and transient channels in human vision, Vision Res 15 (1975) 1151–1155.
- [35] R. Malach, et al., Object-related activity revealed by functional magnetic resonance imaging in human occipital cortex, Proc. Natl. Acad. Sci. U.S.A. 92 (18) (1995) 8135–8139.
- [36] D. Marr, H.K. Nishihara, Representation and recognition of the spatial organization of three-dimensional shapes, Proc. R. Soc. Lond. B Biol. Sci. 200 (1140) (1978) 269–294.
- [37] C. Bartlett, An experimental studyof some problems of perceiving and imagining, Br. J. Psychol. 8 (1916) 222-266.
- [38] G.M. Doniger, et al., Activation timecourse of ventral visual stream object-recognition areas: high density electrical mapping of perceptual closure processes, J. Cognit. Neurosci. 12 (4) (2000) 615–621.
- [39] D.H. Hubel, T.N. Wiesel, Receptive fields and functional architecture of monkey striate cortex, J Physiol 195 (1) (1968) 215–243.
- [40] D.A. Jeffreys, Striate and extra-striate origins of pattern-related visual evoked potential (VEP) components, J Physiol 211 (2) (1970). Suppl:29P+.
 [41] J.J. Foxe, et al., The strength of feedback processing is associated with resistance to visual backward masking during Illusory Contour processing in adult humans, Neuroimage 259 (2022) 119416.
- [42] M.M. Murray, et al., Boundary completion is automatic and dissociable from shape discrimination, J. Neurosci. 26 (46) (2006) 12043–12054.
- [43] V.L. Marcar, et al., Parallel processing in human visual cortex revealed through the influence of their neural responses on the visual evoked potential, Vision Res 193 (2021) 107994.
- [44] V.L. Marcar, M. Wolf, An investigation into the relationship between stimulus property, neural response and its manifestation in the visual evoked potential involving retinal resolution, Eur. J. Neurosci. 53 (8) (2021) 2612–2628.
- [45] V.L. Marcar, et al., Shades of grey; Assessing the contribution of the magno- and parvocellular systems to neural processing of the retinal input in the human visual system from the influence of neural population size and its discharge activity on the VEP, Brain Behav 8 (3) (2018) e00860.
- [46] V.L. Marcar, L. Jancke, Stimuli to differentiate the neural response at successive stages of visual processing using the VEP from human visual cortex, J. Neurosci. Methods 293 (2018) 199–209.
- [47] F. Ratliff, V. Zemon, Some new methods for the analysis of lateral interactions that influence the visual evoked potential, Ann. N. Y. Acad. Sci. 388 (1982) 113–124.
- [48] H. Spekreijse, L.H. van der Twell, T. Zuidema, Contrast evoked responses in man, Vision Res 13 (8) (1973) 1577–1601.
- [49] H.H. Jasper, The ten-twenty electrode system of the International Federation, Electroencephalogr. Clin. Neurophysiol. 10 (1958) 367–380.
- [50] G.E. Chatrian, E. Lettich, P.L. Nelson, Ten percent electrode system for topographic studies of spontaneous and evoked EEG activity, Am. J. EEG Technol. 25 (1985) 83–92.
- [51] D.M. Parker, E.A. Salzen, Evoked potentials and reaction times to the offset and contrast reversal of sinusoidal gratings, Vision Res 22 (1) (1982) 205-207.
- [52] R. Srebro, The topography of scalp potentials evoked by pattern pulse stimuli, Vision Res 27 (6) (1987) 901–914.
- [53] R.D. Pascual-Marqui, Standardized low resolution brain electromagnetic tomography (sLORETA): technical details, Exp. Clin. Pharmacol. 24 (D) (2002) 5–12.
 [54] N.M. Corrigan, et al., An investigation of the relationship between fMRI and ERP source localized measurements of brain activity during face processing, Brain Topogr. 22 (2) (2009) 83–96.
- [55] R.D. Pascual-Marqui, C.M. Michel, D. Lehmann, Low resolution electromagnetic tomography: a new method for localizing electrical activity in the brain, Int. J. Psychophysiol. 18 (1) (1994) 49–65.
- [56] I. Frund, et al., EEG oscillations in the gamma and alpha range respond differently to spatial frequency, Vision Res 47 (15) (2007) 2086–2098.
- [57] P. Azzopardi, A. Cowey, The overrepresentation of the fovea and adjacent retina in the striate cortex and dorsal lateral geniculate nucleus of the macaque monkey, Neuroscience 72 (3) (1996) 627–639.
- [58] B.A. Wandell, J. Winawer, Imaging retinotopic maps in the human brain, Vision Res 51 (7) (2011) 718–737.
- [59] R.F. Dougherty, et al., Visual field representations and locations of visual areas V1/2/3 in human visual cortex, J. Vis. 3 (10) (2003) 586–598.
- [60] J.C. Horton, Cytochrome oxidase patches: a new cytoarchitectonic feature of monkey visual cortex, Philos. Trans. R. Soc. Lond. B Biol. Sci. 304 (1119) (1984) 199–253
- [61] L.C. Sincich, J.C. Horton, Pale cytochrome oxidase stripes in V2 receive the richest projection from macaque striate cortex, J. Comp. Neurol. 447 (1) (2002) 18–33.
- [62] S.H. Hendry, R.C. Reid, The koniocellular pathway in primate vision, Annu. Rev. Neurosci. 23 (2000) 127-153.
- [63] M.F. Green, et al., Perception measurement in clinical trials of schizophrenia: promising paradigms from CNTRICS, Schizophr. Bull. 35 (1) (2009) 163-181.
- [64] V.P. Clark, S. Fan, S.A. Hillyard, Identification of early evoked potential generators: by retinotopic and topographic analysis, Hum. Brain Mapp. 2 (3) (1995) 170–187.
- [65] F. Di Russo, D. Spinelli, M.C. Morrone, Automatic gain control contrast mechanisms are modulated by attention in humans: evidence from visual evoked potentials, Vision Res 41 (19) (2001) 2435–2447.
- [66] D. Ellemberg, et al., Contrast dependency of VEPs as a function of spatial frequency: the parvocellular and magnocellular contributions to human VEPs, Spatial Vis. 15 (1) (2001) 99–111.
- [67] B. Fortune, D.C. Hood, Conventional pattern-reversal VEPs are not equivalent to summed multifocal VEPs, Invest. Ophthalmol. Vis. Sci. 44 (3) (2003) 1364–1375.
- [68] J.J. Foxe, et al., Parvocellular and magnocellular contributions to the initial generators of the visual evoked potential: high-density electrical mapping of the "C1" component, Brain Topogr. 21 (1) (2008) 11–21.
- [69] D.A. Jeffreys, J.G. Axford, Source localisation of pattern-specific components of human visual evoked potentials. I. Components of striate origin, Exp. Brain Res. 16 (1972) 1–21.
- [70] P. Azzopardi, A. Cowey, Preferential representation of the fovea in the primary visual cortex, Nature 361 (6414) (1993) 719–721.
- [71] P. Azzopardi, K.E. Jones, A. Cowey, Uneven mapping of magnocellular and parvocellular projections from the lateral geniculate nucleus to the striate cortex in the macaque monkey, Vision Res 39 (13) (1999) 2179–2189.
- [72] R.B. Tootell, et al., Functional anatomy of macaque striate cortex. V. Spatial frequency, J. Neurosci. 8 (5) (1988) 1610–1624.
- [73] B.C. Skottun, On the use of spatial frequency to isolate contributions from the magnocellular and parvocellular systems and the dorsal and ventral cortical streams, Neurosci. Biobehav. Rev. 56 (2015) 266–275.
- [74] M.D. Van Brocklin, et al., The visual evoked responses: reliability revisited, J. Am. Optom. Assoc. 50 (12) (1979) 1371-1379.
- [75] E.M. Callaway, Local circuits in primary visual cortex of the macaque monkey, Annu. Rev. Neurosci. 21 (1998) 47–74.
- [76] C.M. Chen, et al., Functional anatomy and interaction of fast and slow visual pathways in macaque monkeys, Cerebr. Cortex 17 (7) (2007) 1561–1569.

V.L. Marcar and M. Wolf

- [77] G.G. Blasdel, J.S. Lund, D. Fitzpatrick, Intrinsic connections of macaque striate cortex: axonal projections of cells outside lamina 4C, J. Neurosci. 5 (12) (1985) 3350–3369.
- [78] A.A. Brewer, et al., Visual areas in macaque cortex measured using functional magnetic resonance imaging, J. Neurosci. 22 (23) (2002) 10416–10426.
- [79] D.C. Van Essen, et al., Mapping visual cortex in monkeys and humans using surface-based atlases, Vision Res 41 (10–11) (2001) 1359–1378.
- [80] K. Grill-Spector, Z. Kourtzi, N. Kanwisher, The lateral occipital complex and its role in object recognition, Vision Res 41 (10–11) (2001) 1409–1422.
- [81] G.A. Orban, Q. Zhu, W. Vanduffel, The transition in the ventral stream from feature to real-world entity representations, Front. Psychol. 5 (2014) 695.
 [82] N.C. Rust, J.J. Dicarlo, Selectivity and tolerance ("invariance") both increase as visual information propagates from cortical area V4 to IT, J. Neurosci. 30 (39)
- (2010) 12978–12995.
- [83] K. Tanaka, Representation of visual features of objects in the inferotemporal cortex, Neural Network. 9 (8) (1996) 1459-1475.
- [84] J. Bullier, Feedback connections and conscious vision, Trends Cognit. Sci. 5 (9) (2001) 369–370.
- [85] D.M. MacKay, Source-density mapping of human visual receptive fields using scalp electrodes, Exp. Brain Res. 54 (3) (1984) 579-581.
- [86] S. Arroyo, et al., Neuronal generators of visual evoked potentials in humans: visual processing in the human cortex, Epilepsia 38 (5) (1997) 600-610.
- [87] G. Dagnelie, H. Spekreijse, B. van Dijk, Topography and homogeneity of monkey V1 studied through subdurally recorded pattern-evoked potentials, Vis. Neurosci. 3 (6) (1989) 509–525.